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By transposing 1 from LHS to RHS, we get

x_ 7 4
371

u\xu\x

x3

15
After multiplying both sides with 3, we get
x -8
—x3
3 5
8

=x=—p
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1. Rules for solving a linear equation in one variable:-
> Add the same number on both the sides of the equation.
> Subtract the same number from both the sides the equation.
> Multiply both the sides of the equation by the same number.
> Divide both the sides of the equation by the same non zero number.
» Transpose a term from LHS to RHS or vice-versa.
2. Transposing means taking a term from one side to the other side of an equation while changing its sign.
3. The highest power of a linear equation is always one.
4. An equation may have linear expressions on both sides of the equation.
5. Such equations help us to solve various problems based on numbers, age, perimeters, combination of coins
etc.




image2.png
Exercise 2.1
Solve the following equations:

Question 1:

x-2=7

Solution:

Given,x-2=7

By adding 2 to both sides, we get
x-2+2=7+2
=x=7+2
=x

Question 2:

y+3=10

Solution:

Giveny +3=10

By subtracting 3 from both sides, we get
y+3-3=10-3
=y=10-3
sy=7

Question 3:

6=2+2

Solution:

Given6=z+2

By substracting 2 from both sides, we get
6-2=2+2-2
=4=7+2-2
=4
sz=
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Question 4:
3,17
3
7 7
Solution:

17

Given, 3 +x =

7,
By subtracting > from both sides, we get
3 3 17 3
x

Question 5:
6x=12
‘Solution;
Given,6x =12

After dividing both sides by 6, we get
ox_12
6 6
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‘Question 6:

i3 =10

5

Solution:

Given, %: 10

After multiplying both sides by 5, we get
1>< 5=10x5
5

Given, %
By multiplying both sides with 3, we get
2,3-18x3
3
>2=54
After dividing both sides by 2, we get
2x_54
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‘Question 8:
Y
15
‘Solution:
Given, 1.6

15
‘After multiplying both sides by 1.5, we get
y
16x15= 7z x15
S16x15=y
=240=y
40
4

i g

Question 9:

7x-9=16

Solution:

Given7x-9=16

By adding 9 to both sides, we get
Tx-9+9=16+9
STx=16+9
=7x=25

After dividing both sides by 7, we get

Py
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Question 10:.

Solution:

Given,14y - 18=13

By adding 8 to both sides, we get

14y-8+8=13+8

=14y=21

After dividing both sides by 14, we get
1y 21

114

=v=3

o2
RO

Question 11:

17+6p=0

Solution:

Given, 17 +6p =0

After subtracting 17 from both sides, we get
17+6p-17=9-17
=6p=-8

After dividing both sides by 6, we get
6__8
s

=p=

=p=-

wia ole




